Testing of heuristics
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The model of knapsack problem:

Compare the time consumtion of primary exchange heuristic (the type of exchange is only non-empty – non-empty) based on strategy best admissible with the consumtion of primary exchange heuristic based on strategy first admissible, which will be applied on the same knapsack problem.

Number of the elements will be n=1000, capacity of the knapsack will be b=5000.

Integer coefficients cj generate from interval <1, 30>, integer coefficients aj generate from interval <1, 20>.
Both heuristics start from the same basic solution, which you can obtain in these steps:

1. Line up coefficient (re-index them) of elements in order using rate cj/aj, 
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2. For j = 1..k set xj=1, where k is the biggest index, where holds:
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3. For j = k+1..n set xj=0.
4. Create 2 structures. The first structure will contain indexes, where xj=1, and the second structure will containt indexes, where xj=0.

For comparing the time consumtion generate 10 problems and compare the aritmetical average of time consumtion of each heuristic.

� EMBED Equation.3  ���
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